m=_1% « HZ

==

= 7 3
— . EEHR @=(24»
1~5.ACDBB  6~10:DDDAB (Z)%2m
ZEEA 19. (15 43)(1)3d"4s' (1 40)
11.D 12.BD 13.D 14.AC 15.B (2)DABD(2 43)
= dEEER @sp*(143) N>C>H 40
(—)E&E QZknFZEF LUK AR, =F ks FZER

16. (15 40 (D F-E R E CE R A HE T, 1 40)
(2)2Fe** +H,0,+2H"=—=2F¢* +2H,0(2 43)
BE ik 75, BUEUK 23 i R (2 43
(3)3.7<a<<7.1(2 4%

‘ZEI

(4)NICO; + 2NH, F ﬁx\m +2NH; 4 +CO; + +
H,0(2 43 C24M)
GIYE R WG WBHE Q24

25 X 281c
(G)T(Z )

17. (13 23 (L) 33 R ek T AR i RS B 8 %6, 42 R 3R 1) R
(145
(2) AlO; +CO; +2H, O=——=AI(OH); ¥ +HCO;5 (2 4})
(3) FeCly, CoCl, (2 4})  2LiCoO, + 8HCl —
2CoCl, +Cl, » +4H, O+ 2LiCI(2 4})
WHC2 4
(5)2CoC, 04 + O, M2coo+4002 @4
(6)0.02(2 43)

18. (17 43) (1)2NH; (g) + CO, (g)==CO(NH, ), (s) +

H, O
()W (1 43
3)D25% (2 4)
@0.5(2 4
(4)DD(2 43
QFFARIRE (2 43

AH=—87.0 kJ » mol ' (2 4})
N2 41

Q2 44)
ot

20.

REFE R B (2 50
REITTHE AT /N, T 5 4 7 I e 4z 6
(249

(4)DCuS(2 43)

1 1 1
@(T7Tq—4—)(2 i)

nd N (a®+5%) X107
72

©) X100% (2 43)

(15 49 (DERHE BER (2 4
()45 RN (2 43)
(ARAE HEE (B 1,2- 2K —H ) (2 41)

(4) HOOC—CH—CH,—COOH(2 4)

OH
: CH,Br i B
2 ©:CHZOOCCHZCHO +HO—2
CH, Br ot tio
Ch B | +HOOCCH,CHO 4)
00
[
%) HO—_Hy—C—C—OH 2 4)

Og/CU
(7)HOOCCH.CH.OH

HOOCCH,CHO

1)HCN ) . — A
—HOOCCH,CH(OH)COOH
2)H; 0"

O

|
HEO—CH—CFOH (3 4)

CH,COOH






	化学答案
	化学2

